integral-2014-02-10-review.notebook February 10, 2014

WOEINED)

F() = &% - ><V JR0X) ’g)(

C=32 . -( B

i ) 5(‘5)(1’
33 —-\‘5511—& I
2) 7
'\\sz g " 1 (3? e

L — -

Feo = S qcat - o " [N ~

j X ~ i

R T VA A
F0) 3 OLU/\M hx)

Ax-5 3

F(x) = \f 5,(\% a_[? is.'o{ﬂf:;M

RS ~Sia(2%9) -2 xsia3 ) F



integral-2014-02-10-review.notebook February 10, 2014

eod=245 L, 408
j42x3dx Jim ZOJ“ >%

Nreo [z

4-1
n _Ng ’
) QA—?M
o 20*& ’
(?‘ i
(>
,Q134L}£

‘V\n—’)\on':_ ”(1‘3 c+fb L)

lim. L .2 3
P Z(MWH?? t 27 )

Zx—)l ax

(DK
2l A B S D
(x-3)%F (X3 X3 X©

2x%3 A B . C Dok
@D x X xT ()T WD




	Page 1
	Page 2

